1.  Below is a table with concert ticket prices:

	Adult
	$57

	Child
	$24

	Senior Citizen
	$42



What is the ratio of the price of a ticket for a senior citizen to the price of a ticket for and adult?

What is the ratio of the price of a ticket for an adult to the price of a ticket for a child?

What is the ratio of the price of a ticket for an adult to the price of a ticket for a senior citizen to the price of a ticket for a child?

[bookmark: _GoBack]2.  The ratio of adults to children in a library is 5 : 6.  If there are 102 children in the library, what is the total number of people in the library?
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